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NB|FEFEAS [dtiEE 350 3500 0 3500 10 0 0 0 2268 0 1080
& 350 3500 0 3500
1141[54R BmE 4 20 0 20 5 0 0 0 2700 0 1620
& 4 20 0 20
1201[83% % 34 510 0 510 15 0 0 0 4320 0 2484
& 34 510 0 510
1203[F ¥Ry [#HE 36 360 0 360 10 0 0 0 0 810 0
EF 66 660 0 660 10 0 0 0 1080 0 918
f=554 100 1500 0 1500 15 0 0 0 1296 0 1004
& 202 2520 0 2520
1204|G7R—JL | EE 30 300 0 300 10 0 0 0 0 1080 0
ED 30 300 0 300
1205[IF5NAE Gb 42 168 0 168
1207| B & [&0) 840 84 84 0
1209| B & B 10 30 0 30 3 0 0 0 2484 0 2376
) 10 30 0 30
1221|=vE [&0) 10 14 0 14
1227|7K% & 150 30 0 30 0.2 0 0 0 130 0 119
(&) 150 30 0 30
1245[/D A Eh 500 100 0 100
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e 12 48 0 48 4 0 0 0 1944 0 1404
#mE 68 340 0 340 5 0 0 0 2592 0 1512
Eh 573 590 30 560
1311[F<k IR 2 90 360 0 360 4 0 0 0 2916 0 2808
Eh 90 360 0 360
1321 |81 JbiEE 70 350 0 350 5 0 0 0 3024 0 2592
ZiE 35 175 0 175 5 0 0 0 2700 0 2592
(&) 171 955 0 955
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x5 120 18 0 18 0.15 0 0 0 0 92 0
Eh 420 63 0 63
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Eh 90 9 0 9
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dLiEE 10 200 0 200 20 0 0 0 0 1944 0
Eh 350 3600 0 3600
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= E 10 40 0 40 4 0 0 0 0 5616 0
& 704 111 0 111
1715| K% =0 20 2 0 2 0.1 0 0 0 594 0 378
& 20 2 0 2
1803 | EHEE EE 540 54 0 54 0.1 0 0 0 140 0 130
mE 600 60 0 60 0.1 0 0 0 125 0 67
GhH 1140 114 0 114
1807|#8E E& 150 15 0 15 0.1 0 0 0 0 38 0
f=554 1650 330 0 330 0.2 0 0 0 68 0 67
E& 300 90 0 90 0.3 0 0 0 0 60 0
(&) 2100 435 0 435
1809|L&HL R 450 45 0 45 0.1 0 0 0 49 0 32
=% 1800 360 0 360 0.2 0 0 0 83 0 76
(&) 2250 405 0 405
* EEET * 18758 31131 214 30917
2731|F/K Eh 21 336 0 336
2821 |FEER RE 432 216 0 216 0.5 0 0 0 432 0 281
(&) 432 216 0 216
* S EEET * 885 768 0 768




